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Question Working Answer 

 

Write True or False for questions a – e.                                           

 

a.  23 is bigger than
13   

b. Set A = {2, 4, 6, 8}  

The cardinal number for Set A is n(A) = 4 

  

c. The place value of 9 in 396 is ones.   

d. The intersections of two sets are all the 

elements that appear in both sets. 

  

 

e.  An improper fraction has a larger 

denominator than the numerator. 

  

 

Choose the correct sign < or > or = for Questions f – j.    

f.   

125 + 73                   28 + 3 + 170 

 

  

g.   

3456                     2456 

  

h.  

9 321                 1 + 20 + 300 + 9 000  

 

  



 

THE END 

 

 

 

i. 1424 
  

 

 

j.   

7 x 8                     8 x 7 

  

 

 

 


